-------------- L esson-10
Generdl introduction to the tenses.

In Sanskrit, verbs are associated with ten different
forms of usage. Of these six relate to the tenses and
four relate to moods. We shall examine the usages
now.

Six tenses are identified as follows. The tenses
directly relate to the time associated with the
activity specified in the verb, i.e., whether the
activity referred to in the verb is taking

place now or has it happened aready or if it
will happen or going to happen etc.

Present tense; ~ AcHIH Fles:
Thereisonly one form for the present tense.

Past tense: d &l
Past tense has three forms associated with it.

1. Expressing something that had happened sometime
in the recent past, typically last few days.

2. Expressing something that might have just happened,
typicaly in the earlier part of the day.

3. Expressing something that had happened in the distant

past about which we may not have much or any
knowledge.

Futuretense,  Wiasdd H1:
Future tense has two forms associated with it.

1. Expressing something that is certainly going to happen.
2. Expressing something that is likely to happen.

------ Verb forms not associated with time.

There are four forms of the verb which do not relate

to any time. These forms are called "moods" in the
English language. English grammar specifies three



moods which are, Indicative mood, Imperative mood
and the Subjunctive mood. In Sanskrit primers one
sees areference to four moods with a dightly
different nomenclature. These are, Imperative mood,
potential mood, conditional mood and benedictive
mood. Since the nomenclature differs we will have
to see what the moods in Sanskrit actually refer to.

The ten forms of usage of the verb are each given a
name in Sanskrit and all the names start with the

akshara@. Hence the forms are called the ten "lakaras"
(Even though two of the forms do not strictly start

with@ | theterm SRT:  applies)

1. &< Present tense

2. 3¢ Past tense - imperfect
3. AL Past tense - aorist

4, Te5E Past tense - perfect

5. < Future tense - likely
6. 1 Future tense - certain
7. ag Conditional mood

8. CIBIET: Potential mood

0, TR Benedictive mood
10. E:?Ig I mperative mood

It may be noted that five of the lakarasend in € and
the remaining fivein'€ . One more Lakarais known to
be seenin Vedic texts. It is known as%‘{ :

It must also be remembered that verbs in Sanskrit belong
to two categories depending on whether the activity
specified in the verb applies to the person himself

or whether it applies to someone other than the subject
of the verb.

Verbs referring to the activity for the self are said to be

" Atmanepada’ aﬂ?ﬂﬁﬂ'q’ verbs.
Verbs referring to the activity for others are said to be

"Parasmaipada’ CR'FﬁTq’ verbs.
V erbs which can take both forms are known as

"Ubhayapada" 39949q verbs.



Each verb in Sanskrit can be traced to a root which we
may refer to as the root form of the verb. There are many
Instances of verbs being derived from two different forms
of aroot. The form of the root used in deriving the verb
will depend on the tense.

Forms of the verb for the different tenses and moods are
obtained by adding suffixes or prefixes or both to the
root form and adding an infix as well. So we may say
that the general for of any "lakara' is

(prefix) + root form + infix + suffix

The paranthesis indicates that the prefix is not present
in all the forms.

Theinfix is generally referred to as the conjugational sign.
The form of the infix is dependent on the root form as
well as person. In Sanskrit, the aksharasin the infix are

termed as FIEXUTIcdd: and those in the suffix are
called l%t{QFq?-T . Theroot form is known as g .

The suffix isreferred to as the verbal termination sign.
The form of the suffix depends on the lakara and we can
apply some rulesto arrive at the suffixes. For each of
the lakaras, nine suffixes will have to be remembered.
Three persons and three numbers for each person make
up the nine.

It may be bornein mind that the verbal termination signs
also depend on the type of the verb, i.e., "Atmanepada’
or "Parasmaipada’.

We have seen in lesson 3 the conjugations of the verb in
the present tense. Later in this lesson we shall study the

conjugations for the other tenses and moods. These will

be covered in independent sections.

................. Lesson10

Past tense (simple past tense):
The form considered here is &g



As seen in the introduction, the formation of
the verb may be specified through aformula

(prefix) + verb root + infix + suffix

Theinfix is based on the root and the personwhile
the suffix, referred to as the verb termination,
depends on the tense or the mood.

For the simple past tense, 31 isthe prefix.
The terminations are as follows. These apply for
verbsin "parasmaipada’.

Per. Sing. Dual Pl.
1. d di SE
1. g d d
. =) C| H

Applying the formulathe forms of averb will be
obtained as

11 Sing. H+vr+3+d_
[11 Dual S+ Vr++dH,
[ M. ST+ Vr +3+ 3
Il Sing. J+vr+3+Y
[l Dual ST+ Vr+3A+dH_
[Pl ST+vr+3+d
| Sing. I+ Vr + 3+ 31
| Dua S+ vr+3+d
| PI. +vr+3AT+H

Now for the forms (past tense) of the verb TSI
The root form for the verb is =%

Theinfix corresponding to the root 3T=2 _is also 31
for second and third person but 3T for first person.

Per. Sing. Dual Pl.



1. TR TR IS

He went They two They went
went
1. VTS TS INT=Sd
Y ou went Y ou two Y ou went
went
l IS VTS TS
| went Wetwo We went
went

The discerning reader would want to know why in
the case of the second person singular, thereis

no conformity with the indicated termination §_or
why differences are seen in applying Sandhi rules?

It must be remembered that there are specific grammar
rulesin repect of how sounds are modified when suffixes

are added. Typically, the suffix §_,when added to a noun
or verb root, becomes avisarg. We will not dwell on this
much, as thisis beyond the scope of our current lessons.

Lesson 10
Future Tense- MidsdcahT:

As seen in the introduction, Future Tense may
express something that is certainly going to happen

(@2) or express something that may happen(&g).
Of these two, &< is seen in frequent use.

Theinfix for future tense is&4. Thisinfix changesits
form to 4 when applied to some roots. In some cases

it may become ™. There is no direct rule or formula
which we can remember in respect of thisinfix. It
will be necessary to commit to memeory the forms
for different verbs.

For many verbs, two root forms may be seen. For
example,

¥, =3 arethe two root forms given for IT=S(d.



Likewise,

q1 , 99 for MaTd and

e, fdg for fsfd .

The form of the verb for future tense will be based

on the first root where two roots are specified.
As seen earlier, the second form of the root will be

used in generating the verb in present tense, past tense

and imperative mood.

Let uslook at the terminations for future tense.
The infix and the tense terminations are combined
together and shown here.

The table appliesto verbs in " parasmaipada’

Per. Sing. Dual
11 i q:
I (1) =
I STH a:

Now for the forms of the verb I/=sTd in future tense.

1 TS TTHsa:
He will They two
go will go

1l TS TSy :
Y ou will Y ou two
go will go

| ST TS
I will go We two

will go

The forms for T4, Please note that the form

of theroot that istaken is4T .

1 QAT QT
He will They two
drink will drink

Il I gy
Y ou will Y ou (two)

o o

ITHTd

They
will go

[aN

TTHSSY

You

will go
TS
We will

go

R
They will
drink
Q&

Y ou will



drink will drink drink

o

I qQrEaTH qE Qe
I will We (two) We will
drink will drink drink

The student would have observed by now that he/she
will have to remember the root forms for many verbs
to be able to correctly form the verbs. Panini, the
foremost among Grammarians, had listed about 1950
root forms for Sanskrit. Surprisingly, knowledge of
just about 300 of the root forms will be adequate for
understanding Sanskrit texts.

If you arew curious as to what these 300 are, you may
have to wait for advanced lessons to be put up in these
pages! Thisisabig task and we would like to know if
you are interested. Send us a note.

Summary of root terminations and verbal
terminations for different tenses and moods.

The tables given below may be used asabasic
reference for determining the forms of the verbs
in different tenses. The student is reminded that
the tableis given only as areference and the
terminations cannot be blindly applied to aroot
form. It will be necessary to remember the root
forms for many verbs.

Terminations for the present Tense

2 -
qEHYS ACHIS
1 fa a: offed d ¥ Id
I 1= S FR g ¥ w9
[y LN
| M 9 =R g da Ha

Terminations for the Past (imperfect) tense

1 d dH S+ d gl ed
Il g @ d RIEE-CIREC



b
e

I SH4Ad H E

Terminations for the Future Tense

~ ~ LN =~
i S S Sied S Sd SR
I =Yg S Sy 151 B S S 5
| SH S S W ER SR

In case of the Future Tense, we have already seen
that the general termination is 4. In some verbs,

¥ changesto ™ and also takes¥ in the beginning
of the termination. The form shown above may be
interpreted in the light of this observation.

Terminations for the Imperative Mood

11 d a °=d ai i eFdl
I aq o d SO
| A T ST U oTER e
Terminations for the Potential Mood

1 id 3aWm g 3q Sl S



